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B17%5)% AL T Posisson A2 #f#< FreeFEM X2 1) S~
—XIEK a(u,v) :/Vu Vodz, L* ¥ N (f,v) /fv

;ﬁ_\’%ﬂ%f:? up € Vh(g) %E{#G?J: a(umvh) = (f Uh) Yo € Vi

mesh Th=square(20,20); // (0,1)x(0,1) square domain
fespace Vh(Th,P1l);
Vh u,v;
func £ = ¢
func g = 1.
varf poiss u,v)=1int2d (Th) ( dx(u) *dx (v) +dy (u) *dy (v) )

+ on(l,2,3,4,u=q9);
varf external (u,v)=1int2d(Th) ( £*xv );
real tgv=1.0e+40; // penalty parameter > (machine eps)”"—
matrix A = poisson (Vh,Vh, tgv=tgv,solver=CG);
real[int] ff = external (0, Vh);
real[int] bc = poisson(0, Vh, tgv=tgv);
ff = bc ? bc : f£f; // penalty term for inhomogenise data
ul] = A*-1 % ff;
plot (u);

AR ICEE 2z 3
TUE + Zj¢kaijj = TGk Z].aijuj = fl for ¢ 7é k
Zjaijuj:fi Vie{l,...,N}\AD.
WY LX—DIEE solver=

CG/GMRES EEENFTHI | —#E D175
sparsesolver Pardiso & %\ X MUMPS %= fw 3
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FEEEX Y 2%%EMT S FreeFEM X2 1) 7 +

int nl = 20;

border bottom(t=0,1) {x=t;y=0; label=1;};

border right (t=0,1) {x=1;y=t; label=2;};

border top(t=0,1) {x=1-t;y=1; label=3;};

border left (t=0,1) {x=0;y=1-t; label=4;};

mesh Thl=buildmesh (bottom(nl)+right (nl)+top(nl)
+left (nl));

fespace Vh10 (Thl,PO);
Vh1l0 hl = hTriangle;
real hmax = hl[].max;

Ay ¥ aflinzHWLGEERDHOBERERICMNZ RS 200

ming hx, Y. hi /#Th K maxg hx ZEHHELTHE LRV

B T LyalaY
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RE xR d S FreeFEM X2 7+

int nl = 20;
real hhl,hh2,errl,err2;

func sol = sin(pixx)*sin(pixy/2.0);
func solx = pixcos (pi*x)*sin(pi*y/2.0);
func soly = (pi/2.0)xsin(pixx)=*cos(pi*xy/2.0);

mesh Thl=square (nl,nl);

fespace Vhl (Thl,P2);

// calculation of a solution on Vhl wth mesh Thl

matrix A = poisson(Vhl, Vhl, tgv=tgv,solver=CG);

real[int] ff = external (0, Vhl);

real[int] bc = poisson (0, Vhl, tgv=tgv);

ff = bc ? bc : ff;

ul[] = A*-1 * ff;

errl = int2d(Thl) ((dx (ul)-solx)* (dx (ul)-solx) +
(dy (ul) -soly) x (dy (ul) -soly) +
(ul-sol) * (ul-sol));

errl = sqgrt(errl);

// calculation of a solution on Vh2 with mesh Th2

hhl = 1.0/nlxsgrt(2.0); hh2 = 1.0/n2+sqrt (2.0);

cout<<"0O (h"2)="<<log(errl/err2)/log(hhl/hh2)<<endl;

A AR 2 & IR ESRAE w, € Sn(Pk) DR u € H?(Q) WOH3 2 iz
FEFRY A X h I L TR 2 D 720

- Bk h\"
I S 78 | EN 5 Gy 1Y
o =unlhe=eh® = = it = \
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FreeFEM D30
¥EDIRL

for (int i=0; i<10; i++) {
if (err < 1.0e-6) break;

}

//

int i = 0;

while (i < 10) {

ié.(err < 1.0e-6) break;
i++;
}
FIREEZE 2R, W—JE & B 751

fespace Xh(Th,P1l)

Xh u,v; // finite element data

varf a(u,v)=int2d(Th) ( ... ) ;

matrix A = a(Xh,Xh, solver=UMFPACK) ;

real [int] v; // array

v = Axul]; // multiplication matrix to array

Z—H—E R
func real[int] ff(reallint] &pp) { // C++ reference
return pp; // the same array
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fc5l, X7 ML, FEM 7—42, B{75), 7Oy o 7—2% : 1/2

BT — S

bool flag; // true or false

int i;
real w;

string st = "abc";

el

real[int] v (10);
real[int] u;
u.resize (10);

real[int] vv = v;
a(2)=0.0 ;

a += b;

a=>b .x c
a=b<c?hb c
a.sum;

a.n;

// real array whose size is 10
// not yet allocated

// same as C++ STL vector

// allocated as same size of v.n
// set value of 3rd index

// a(i) = a(i) + b (i)

// a(i) = b(i) * c(i); element-wise
// a(i) = min(b (i), c(i)); C-syntax
// sum a(i);

// size of array

RZ FAD O 02 0°-) VLA REET 27D DEFNIH S 2 EEA max, min 12

MATHHTE 3.
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fc5l, X7 ML, FEM 7—42, B{73), 7Oy o 7—3 : 2/2
HREEA 7Y =2 b

func fnc = sin(pixx)xcos(pixy); // function with x,y
mesh Th = ...;

fespace Vh(Th,P2); // P2 space on mesh Th

Vh f; // FEM data on Th with P2

f[]; // access data of FEM DOF

f = fnc; // interpolation onto FEM space
fespace Vh(Th, [P2,P2]); // 2 components P2 space

Vh [ul,u2]; // ull[], u2[] is allocatd
ul[]=0.0; // access all data of [ul,u2];
real[int] uu([ul[].n+u2[].n);

ull[] = uu; // ull[]l, u2[] copied from uu
[ul[], u2[l1] = uu; // using correct block data
#1775 & BiATH

real [int,int] B(10,10); // 2D array
varf aa(u,v)=int2d(Th) (uxv); // L2-inner prod. for mass
matrix A=aa (Vh,Vh, solver=sparsesolver); //sparse matrix

C++ LIHERD 7 7 4 VAHTT, Vh u;
{
ifstream file("saved.data");
for (int i=0; i<ul].n; i++) {
file >> ul]l(i);// only number

Vh u;

{
ofstream file ("output.data");
file << u; // with meta data

} // scope of file object }

} // scope of file object
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2 RIT T DRRFZEMERRIRE : 1/2

/ Y(e(u)) : e(v) = / Adiv(u)dive + 2ue(u) : e(v)
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2 RIT T DR RRIRE : 2/2

load "PARDISO"

macro EL(ul, u2) [dx(ul), (dx(u2)+dy(ul)), dy(u2)] //
mesh Th = square(4 l [5*x, vI1);

Th = change (Th, label label);

0, i
int[int] llabel = [1, 2, 2, 2, 3, 2, 4, 11;
fespace Vh(Th, [P2, 21)

1.0, gg = -0.5e-3;

real lambda = 1.0, mu

func A = [ [lambda + 2.0 » mu, 0.0, lambda 1,
[0 mu , 0.0 1,
[lambda, 0.0, lambda + 2.0 * mu] 1;

Vh [ul, u2], [vl, v2];

varf lelasticity([ul, u2], [vl, v2])
= int2d(Th) (EL(ul, u2)’ * A x EL(vl, v2)) //’'
+ on (1, ul = 0.0, u2 = 0.0);
varf rhs([ul, u2], [vl, v2])
= int2d(Th) (v2 * gg) + on (1, ul = 0.0, u2 = 0.0);
matrix AA = lelasticity(Vh, Vh);
set (AA, solver = "PARDISO", sym = 1);
real[int] bb = rhs (0, Vh);
real[int] xx = AA"-1 * Dbb;
ull[] = xx;
mesh Thm = movemesh (Th, [x + ul, y + u2]); plot (Thm) ;
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3 RIT T DHRAZHMERRIRE - 1/3

/ Y(e(u)) : e(v) = / Adiv(u)dive + 2ue(u) : e(v)
Q Q
3 x 3 0FT > VL ORI 6- KDY+ L e AFFHIORMCRidTE S Z &
ZHMT %
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zﬁEﬂ:'C G)’fﬁﬂzﬂﬁ'ﬁﬁkf"ilh : 2/3

load "PARDI
macro EL(ul,u2,u3) [dx (ul

X
dy (u2), (dy (u3) +dz (u2) ) ,dz (u3) ]

include "cube.idp"

int [int] Nxyz=[40,10,101;

real [int, int] Bxyz=[[O.,5.],[ 1.1,
int [int,int] Lxyz=[[1,2],[2,2],[2 ,2]]
mesh3 Th:Cube(nyz,Bxyz,nyz)

fespace Vh(Th, [P2, P2, P2]);

real lambda = 1.0, mu = 1.0, gg = -0.5e-3;

real al = lambda + 2.0 * mu;

real a2 = mu;

real a3 = lambda;

func A = [ [al, 0.0, 0.0, a3, 0.0, a3 1,
[0.0, a2, 0.0, 0.0, 0.0, 0.07,
(0.0, 0.0, az, 0.0, 0.0, 0.071,
[a3, 0.0, 0.0, al, 0.0, a3 1,
(0.0, 0.0, 0.0, 0.0, a2, 0.07],
[a3, 0.0, 0.0, a3, 0.0, al 1 1; //

Vvh [ul, u2, u3], [vl, v2, v3];

varf lelasticity([ul, u2, u3], [vl, v2, v3])

1
= int3d(Th, gfv=qgfVvl) (EL(ul, u2, u3)
+ on (1, ul = 0.0, u2 = 0.0, u3 = 0.0);

varf rhs([ul, u2, u3]l, [vl, v2, v3])
= int3d(Th,gfV=qfVl) (v3 * gg)
+ on(l, ul = 0.0, u2 = 0.0, u3 = 0.0);
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3 Ryt T D#FAZEME AR : 3/3

matrix AA = lelasticity(Vh, Vh);

set (AA, solver = "PARDISO", sym = 1);
real[int] bb rhs (0, Vh);

real [int] =xx AA"-1 x bb;

ull[] = xx;

mesh3 Thm = movemesh3 (Th,transfo=[x + ul, y + u2, z + u3l);
plot (Th, Thm);

BXILDFFEBR : % [EE L7358 O =KL DL
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FEARAZ M (ARIRE : Xi#57% Jacobian 1751

/QE(dE(u")[w]) cdE@W™)[v] + Z(E@™)) : d2E(u”)[v,w]

macro ENL (ul, u2, u3) [

(dx (u )*dx( 1) +dx (u2) *dx (u2) +dx (u3) »dx (u3) ) 0.5,

(dx(u ) xdy (ul) +dx (u2) xdy (u2) +dx (u3) »dy (u3) ),

(dx (ul) *dz (ul) +dx (u2) *dz (u2) +dx (u3) *dz (u3l)),

(dY(ul) xdy (ul) +dy (u2) »dy (u2) +dy (u3) *dy (u3) ) x0.5, //
macro dENL (ul, u2, u3, vl, v2, v3) [

(dx (ul) »dx (v1l) +dx (u2) *xdx (v2) +dx (u3) *xdx (v3))

(dx (ul) *dy (vl) +dx (v1l) xdy (ul) +

dx (u2) xdy (v2) +dx (v2) xdy (u2) +

dx (u3) xdy (v3) +dx (v3) xdy (u3)),

(dx (ul) *dz (vl1l) +dx (v1l) xdz (ul) +

dx (u2) *dz (v2) +dx (v2) *dz (u2) +

dx (u3) xdz (v3) +dx (v3) xdz (u3) ),

(dy (ul) *dy (v1) +dy (u2) *dy (v2) +dy (u3) *dy (v3)), //...
macro E(ul, u2, u3) (EL(ul, u2, u3) + ENL(ul, u2, u3)) //
macro diE(ul, u2, u3, vl, v2, v3) (EL(vl, v2, v3)+

dENL (ul, u2, u3, vl, v2, v3)) //
varf nelasticity([wl, w2, w3], [vl, v2, v3])
= int3d(Th, gfv=qgfVvl) (dE (ul, u2, u3, wl, w2, w3)’ * A *
dE (ul, u2, u3, vli, v2, v3)) +
E(ul, u2, u3)’ % A *
dENL (wl, w2, w3, vl, v2, v3)) + on( ... //
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METIS IC& 3 EL D D 3 5EE3E & HPDDM IC & B #%%: 1/3

load "hpddm"
mpiComm comm (mpiCommWorld,0,0);
mesh3 ThGlobal, Th;
ThGlobal = gmshload3("cylinders.msh"); // read Gmsh mesh
func Pk = [P1, P1, P1];
fespace Vhg(ThGlobal, Pk); // FE space on global domain
fespace Vh(Th, Pk); // FE space on local domain
int[int] [int] intersection;
real[int] D;
{
Th = ThGlobal;
build(Th, 1, intersection, D, Pk, comm, 3)
}
matrix Rgl = interpolate (Vh, Vhg);
matrix Dh = [D]; // diagonal matrix

> mesh3 Th:Qp,: ~EBOEED DD HEEHIE
> matrix Rgl: 2KBEHED SHTEHHEANDHIBIERAE Ry
> matrix D :BHEARYR BN D3RO E S
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METIS IC& 2 ELD D H 3 mEH57EI HPDDM (C & 3 f#i%4: 2/3
12 B FEISA D 5 E|, ParaView 12 & 2 AL

» macro build () : HPDDM O#lAiAA~ 7 o TEHAZ H O 2 fEES
E AR T 2
> METIS ENOTERDENC X 2 EREROHEREFEH T 22, D
BHARIIE S TRITV
> fI7ERY Schwarz RIS & 2 B R 2 Ot E TR THEL
ERINKEFEHET S
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METIS IC& 3 EL D D 5 5EE3E & HPDDM |2 & 3 ##%: 3/3

load "hpddm"

mpiComm comm (mpiCommWorld,0,0);

mesh3 ThGlobal, Th;

fespace Vh(Th, Pk); // FE space on local domain

/] ..

totaldof = Vhg.ndof;

localdof = Vh.ndof;

real[int] xxg(totaldof), xdl(localdof), xxl(localdof);

matrix AA = lelasticity(Vh, Vh, tgv = -1, sym=1l);

real[int] bb = rhs (0, Vh, tgv= -1);

schwarz dA (AA, intersection, D);

set (dA, sparams = "-hpddm_schwarz_method ras " +
"-hpddm_variant right -hpddm_tol 1.e-8 " +
"-hpddm_gmres_restart 150 -hpddm_max_it 150" +
"-hpddm_verbosity 10 —-hpddm_tol 1.0e-10")

xxl = AA"-1 x Dbb; // solution is distributed
xdl = Dh * xx1; // adjust with weights for overlapping
xxg = Rgl’ % xdl; //" local -> global

mpiAllReduce (wg, ul[], comm, mpiSUM); //

> RIEATENI N —RIE XD & ER T D EZE E Th & ARZERZERM vh
W2k bR S B

> BIROMRE MPI ORFIEE Y- R) Dyuy 1 & D EDFEBOME % &
HLHZeTHELND
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B BYES

2,076,809 H HJE T DRI/ ERRE B4 (R 5 o figt

Y LN — RRIEHRIEAR XEY —
TR GHER Y uA~—

pardiso symmetric 52.17 0.04 432.50 40.2GB

hpddm unsymmetric 20.30 0.01 352.69 5.1Gx12

hypre unsymmetric 20.33 0.01 72.03 1.5Gx12

VLN — AR IER XEY —
ITHVER.  BHAER Ve N—

pardiso symmetric  233.34 129.33 430.60 40.2GB

hpddm unsymmetric 42.44 22.15 366.02 5.1Gx12

hypre unsymmetric 45.01 20.1 87.42 1.5Gx12

> JERE PR TR CERIES TSI DA U 220 5 IR I3 AR T &
> hypre multigrid BTLFIZIERIEED TR 72 2 IR L7 < 72 %
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FreeFEM & A—7>YV 7 0 x7

BH D FreeFem O N— a3 >3 4.13.
4 ¥R b —LJ7iElX https://doc.freefem.org/introduction/installation.html
> FreeFEM:mL~LOEEMHEY I 2L —>a Do 0HRESREY 7
Y=
https://freefem.org
» gmsh : 3 XILD X v /:Léliﬁk\/ 7Y =7, lBEERD DR 7Y T b
a%%%méﬂSEP774w%quMRMEI///kiD%ﬁ
https://gmsh.info
> mmg3d: BRMODZDD 3IRIEDRy>ay 7 by =7
https://www.mmgtools.org
> hpddm : fliER Schwarz ﬁu&&@ﬁ COREBIEE V5 Y Lo —
https://github.com/hpddm/hpddm
» paraview:3 XILDAHELY 7 b v =7
https://www.paraview.org
WEY 7 v 7 27D FreeFEM AD A4 & —7 = — %
FreeFem-soucres/plugin/{seq,mpi}/
FreeFEM ® 2 7 ) 7 bk ®filix FreeFem-soucres/examples/
FreeFEM DM E#EH % ParaView 12 & D A[#{L T 2I1CE KD 7V 7+ % H
W3,

load "iovtk"

mesh3 Th = ... ;

fespace Vh(Th, P1);

Vh u;

int[int] vtkorder = [1];

savevtk ("output.vtk", Th, u, order = vtkorder);
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